
<latexit sha1_base64="L6GxgA82Xr58gHy7BGKV320PJUs=">AAACFnicbVBNS8NAEN3Ur1q/oh69LBahHiyJFPUiFLx4rGA/oA1ls9m0SzebsLsRQ8iv8OJf8eJBEa/izX/jps2htj5Y9s2bGWbmuRGjUlnWj1FaWV1b3yhvVra2d3b3zP2DjgxjgUkbhywUPRdJwignbUUVI71IEBS4jHTdyU2e7z4QIWnI71USESdAI059ipHS0tA8G7gh82QS6C9Nsuv50M9q8+Fjdjo0q1bdmgIuE7sgVVCgNTS/B16I44BwhRmSsm9bkXJSJBTFjGSVQSxJhPAEjUhfU44CIp10elYGT7TiQT8U+nEFp+p8R4oCme+mKwOkxnIxl4v/5fqx8q+clPIoVoTj2SA/ZlCFMPcIelQQrFiiCcKC6l0hHiOBsNJOVrQJ9uLJy6RzXrcv6o27RrXZKOwogyNwDGrABpegCW5BC7QBBk/gBbyBd+PZeDU+jM9Zackoeg7BHxhfv7fioO4=</latexit>

y = f(x)


